Math 2200-01 (Calculus I) Spring 2020

Book 3



P. 285 # 19. of all boxes with a square base and a volume 8 m3, which one has the arrainm whene $V = \chi^2 h = 8 = 7 h = \frac{8}{\chi^2}$ h area $A = \frac{2\chi^2}{\chi} + 4\chi h = \frac{8}{\chi^2} = 2\chi^2 + \frac{32}{\chi}$, $\chi > 0$ top and sides The domain is (0,00), an inhounded open interval. $\frac{dA}{dx} = 4x - \frac{32}{x^2} = \frac{4}{x^2} \left(x^3 - 8 \right)$ The critical point is at x=2. (Recall: critical points are where the derivative is For 0 < x < 2, $\frac{dA}{dx} < 0$ so A(x) is deresting where $\frac{dA}{dx} = 6$. It is undefined, only one points for x = 2, $\frac{dA}{dx} = 0$. For x=2, dA =0. For x > 2 , dA > 0 So A(x) is increasing.

So the minimum surface area A(1) = 12 m² occurs for a box of size 2m × 2m × 2m.

Sec 4.4. p. 278 # 21. $f(x) = (x-6)(x+6)^2 = (x^2-36)(x+6) = x^3+6x^2-36x-216$ $f'(x) = 3x^2 + 12x - 36 = 3(x^2 + 4x - 12) = 3(x+6)(x-2)$ f''(x) = 6x + 12 = 6(x+2) f(0) = 6x + 12 = 6(x+2)y = f(x)+++0---0++++ f ---- 0 + + 2 + + + $\frac{2}{(-2,-128)}$ $\frac{1}{(-2,-128)}$ $\frac{1}{(-2,-128)}$ $\frac{1}{(-2,-256)}$ $\frac{1}{(-2,-256)}$ $\frac{1}{(-2,-256)}$ $\frac{1}{(-2,-256)}$ $\frac{1}{(-2,-256)}$ $\frac{1}{(-2,-256)}$ $f(-2) = (-8)(4)^2 = -128$ $f(2) = (-4)(8^2) = -256$ I has an inflection point (-2,- 128), I is increasing on (-00,-6V and on (2,00), a local minimum point (2,-256), decreasing on (-6,2) a local maximum point (-6,0), concare up on (-0, -2) no absolute extrema or asymptotes.

Sec 4.5 p. 287 #41. Let r be the radius of the semicircular window pane The perimeter is P= 11r+2r+2h = 26 h=10- T+2- $(\pi + 2)r + 2h = 20$ 2h = 20 - 11r-2v 41. A window consists of rectangular pane of glass surmounted by a semicircular pane of glass (see figure). If the perimeter of the $\frac{dA}{dr} = 20 - (\pi + 4)v$ window is 20 feet, determine the dimensions of the window that 2r maximize the area of the window. The critical point is at $r = \frac{20}{\pi + 4}$.

When $0 < r < \frac{20}{\pi + 4}$, $\frac{dA}{dr} > 0$ so A is increasing. A= 7 + 2 - h = T 2 2 (10 - THZ r) $= 20r + \left(\frac{\pi}{2} - (\pi+2)\right)r^{2}$ $= 20r - \frac{\pi+4}{2}r^{2}$ When 20 2 r < 40 , dA < 0 so A is decreasing. A = $(20 - \frac{71+4}{2}\Gamma)\Gamma$ when $r = \frac{20}{17+4}$ Attenuatively conce A>0 requires r to be in $[0, \frac{40}{17+4}]$, we need only chuck A at endpoints and the critical point:

dimensions of the window that waxinizer the area 10-11+2 == 10 (+2) $= \frac{10(\pi+4) - 10(\pi+2)}{10(\pi+2)}$ TT+4 Sec 4.6. Linearization and Differentials linear approximation

For x close to a, $f(x) \approx L(x) = f(a)(x-a) + f(a) = []x + []$ approximately linearization f(a)equal to of f at (a, f(a))Example: Use the linearization of \sqrt{x} at (25,5) to approximate $\sqrt{26}$. $f'(x) = \frac{1}{2\sqrt{x}}, \quad f'(25) = \frac{1}{2\sqrt{25}} = \frac{1}{10}$ The linearization of \sqrt{x} at (25, 5) is 25 26 L(x)= f(65)(x-25) + f(65) $=\frac{1}{10}(\chi-25)+5$. If $x \approx 25$ then $\sqrt{x} \approx \frac{1}{10} (x-25) + 5$. Eq. $\sqrt{26} \approx \frac{1}{10}(26-25)+5 = 5.1$ correct to 3 significant digits. Checle: $\sqrt{26} \approx 5.099019514$ Conder approximation: J26 × 5. (correct to one significant digit)

Constant approximation Jx × 5

If we move from (25,5) to (x, f(x)) on the graph, our actual $f(x) = \sqrt{x}$ change 1. an exact amount $\Delta g = f(x) - f(25).$ $\Delta L(x) = L(x) - L(25) = P'(25) = dy$ Les stope $\Delta y = P(x) - P(25)$ Latil now we have written du Until now we have written by as an indivisible symbol. Now we are interpreting dx and dy as changes in x and y. They are changes on the tangent line (just like ax and by are corresponding changes on the actual curve of f). dx and dy are differentials. We'll interpret 126 x 5.1 in this new language:

da - dy da

x -> u -> y

the corresponding change in y is $\Delta y \approx dg = 0.1$. So √26 ≈ 5.1 This is a quick and easy interpretation for differentials. We will be using differentials throughout Calculus.

If y = sin x link dy and la If y = sinx, find dy and by.

 $50 \Delta y \approx dy = \cos x dx$

 $dx = \Delta x = 26 - 25 = 1$

 $\frac{dy}{dx} = \cos x \quad \text{so} \quad dy = (\cos x) \, dx$

As we more from x = 25 + 6 = 26,

 $f'(25) = \frac{1}{10} = \frac{dy}{dx} = 5$ $dy = \frac{1}{10} dx = \frac{1}{10} x / = 0.1$

De 17 I'llopital's Rale

The limit
$$\lim_{x\to \infty} \frac{x^3+2x^2-x-1}{2x^3-5x} = \frac{1}{x^2}$$

The limit $\lim_{x\to \infty} \frac{x^3+2x^2-x-1}{2x^3-5x} = \frac{1}{x^2}$

The limit $\lim_{x\to \infty} \frac{x^3+5}{3x^2+5} = 0$

The limit $\lim_{x\to \infty} \frac{3x^2+5}{3x^2+5} = 0$

"determinate form $\frac{1}{50}$

"leterminate form $\frac{1}{50}$

"heterminate form $\frac{1}{50}$

inheterminate

form $\frac{1}{50}$

I'llopital's Rule for limits of indeterminate form $\frac{1}{50}$ or $\frac{1}{500}$, $\lim_{x\to 0} \frac{f(x)}{g(x)} = \lim_{x\to 0} \frac{f(x)}{x}$

assuming the second limit exists

eg. $\lim_{x\to 0} \frac{x^3+2x^2-x-1}{x\to 0} = \lim_{x\to 0} \frac{5x^2+4x-1}{5x^2-5x} = \lim_{x\to 0} \frac{6x+4}{5x^2-5x} = \lim_{x\to 0} \frac{6}{5x^2-5} = \frac{1}{x^2-700}$

eg. $\lim_{x\to 0} \frac{x^3+2x^2-x-1}{2x^3-5x} = \lim_{x\to 0} \frac{5x^2+4x-1}{5x^2-5} = \lim_{x\to 0} \frac{6x+4}{12x} = \lim_{x\to 0} \frac{6}{12x} = \frac{1}{2}$

eg.
$$\lim_{x\to\infty} xe^{x} = \lim_{x\to\infty} xe^{x} = \lim_{x\to\infty} \frac{1}{e^{x}} = 0$$

indeterminate indeterminate

 $form co \cdot 0$ form $co \cdot 0$

eg. $\lim_{x\to0} x \ln x = \lim_{x\to0^{+}} \frac{1}{x} = \lim_{x\to0^{+}} \frac{x}{x} = \lim_{x\to0^{+}} (-x) = 0$

indeterminate

form $0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$
 $form 0 \cdot (-co)$

indeterminate

 $form 0 \cdot (-co)$

inde

Another Differed's Rule example for the indeterminate form
$$1^{\infty}$$
.

lim $(1+\frac{a}{x})^x$ where a is constant.

X1-900

In order to use 1'Hospital's Rule, we used to severite this as a quotient.

 $6 = (e^{\ln b})^c = e^{-\ln b}$
 $\lim_{x\to\infty} (1+\frac{a}{x})^x = \lim_{x\to\infty} e^{-x} \ln(1+\frac{a}{x}) = \lim_{x\to\infty} e^{-x} \ln u = e^{a_1} = e^{a_1}$
 $\lim_{x\to\infty} (1+\frac{a}{x})^x = \lim_{x\to\infty} e^{-x} \ln(1+\frac{a}{x}) = \lim_{x\to\infty} e^{-x} \ln u = e^{a_1} = e^{a_1}$
 $\lim_{x\to\infty} (1+\frac{a}{x})^x = \lim_{x\to\infty} e^{-x} \ln u = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = \lim_{x\to\infty} \frac{\ln u}{1} = 1$
 $\lim_{x\to\infty} (\ln x \ln u) = 1$
 $\lim_{x\to\infty} (\ln x \ln$

Some books défine $e^q = \lim_{x \to \infty} (1 + \frac{q}{x})^x$ This limit comes from compound interest. If you deposit a principal amount A in the bank of nominal interest viste r (eg. 5% interest per enumen would give = 0.05). If interest is compounded among ally then after one year you have earned rA interest. The total bolance in the bank after a year would be A + rA = (1+r)A. If interest is compounded semianumually (every 6 months) then after 6 months you have (H =) A as balance after 6 months; then at the end of the year you have $(1+\frac{1}{2}) \cdot (1+\frac{1}{2})A = (1+\frac{1}{2})A = (1+\frac{1}{2})A$ If interest is compounded a times per year then every in year your balance is multiplied by 1+ in After one year your balance is (1+ in) A. For continually compounded interest we let n-700. lien (1+ m) A = e A. Eg. 5% interest compounded working regults in